4@ BAAEPUN C&M reynAf

MHCTPYMEHTMUTE BbDbNTAPMUA

ORIGINAL INSTRUCTION MANUAL
BRUSH CUTTER

0503KPGTO0114

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Lentpanen opuc: Copua 1517 Mnospaus, c.Tpya 4199 Bapna 9000, k8. "Bnaanucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "Crpoescko woce” 3 6yn. “AtaHac Mockos” 13 6yn. "Espona” 180, cknaa 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

ITposepwi: P.Y./24.03.2015r



. BAAEPUW C&M reyn A

MHCTPYMEHTMUTE BbDbNTAPWUA

14. Gear case
15, Blade

2.WARNING LABELS ON THE MACHINE
(1) (2) 3 (4

(1). Read owner's manual before operating this machine.

(2). Wear head, eye and ear protection.

(3). Warning/Attention,

(4). Keep all children, bystanders and helpers 15 meters away from the brush cutter.

IMPORTANT

If warning seals peel off or become soiled and impossible to read, you should contact the

dealer from which you purchased the product to order new seals and the new seal in the
required location.

WARNING

Never remodel your brush cutter.

We won’t warrant the machine, if you use the remodeled brush cutter or you don’t
observe the proper usage written in the manual.

3.SYMBOLS ON THE MACHINE

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknaa 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



BAAEPUN C&M reynAn

MHCTPYMEHTMUTE BbDbNTAPWUA

For safe operation and maintenance, symbols are carved in relief on the
. 'i\) @ machine.
According to these
Indications, please be careful not to take a mistake
N s (a). The port to refuel the “MIX GASOLINE™
Position: FUEL. TANK CAP
(b). The direction to close the choke
Position: AIR CLEANER COVER
1§81 ©) (¢). The direction to open the choke
Position: AIR CLEANER COVER.

aniew | B | /17

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaunmoHaneH)

Uentpanex opuc: Copusa 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknaa 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



@ BAAEPUN C&M reynAn

n

HCTPYMEHTMUTE BbDbNTAPWUA

4. SAFETY PRECAUTIONS
*  BEFORE USING THE MACHINE

a.

product.

Read this owner's manual carefully to understand how to

operate this unit properly.

This product has been designed for use in cutting grass,

and it should never be used for any other purpose.

You should never use this brush cutter when under the

influence of alcohol, when suffering from exhaustion or

lack of sleep when suffering from drowsiness as a result

of having taken cold medicine, or at any other time when

a possibility exists that your judgment might be impaired

or that you might not be able to operate the brush cutter

properly and in a safe manner.

Avoid running the engine indoors. The exhaust gases

contain harmful carbon monoxide.

Never use your brush cutter under circumstances like

those described below:

1.When the ground is slippery r when other conditions

exist which might make it not possible to maintain a

steady posture while using the brush cutter.

2. At night, at times of heavy fog, or at any other times

when your field f vision might be limited and it would

be difficult to gain a clear view of the area.

3. During rain storms, during lightning storms, at times of
strong or gale-force winds, or at any other times when
weather conditions might make it unsafe to use this

f. When using this product for the first time, before beginning actual work. Learn to
handling the brush cutter from skilled worker.

0. Lack of sleep, tiredness, or physical exhaustion results in lower attentions spans,
and this in turn leads to accidents and injury. Limit the amount of time over which the
brush cutter is to be used continuously to somewhere around 30-40 minutes per
session, and take 10-20 minutes of rest between work sessions. Also try to keep the
total amount of work performed in a single day under 2 hours or less.

h. Be sure to keep this manual handy so that you may refer to it later whenever any

questions arise.

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknaa 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



@ BAAEPUN C&M reynAn

MHCTPYMEHTMUTE BDATAPMNA
j. Never allow children or anyone unable to fully understand the directions given in
A. When using your brush cutter, you should wear proper
O—@&
& é . Protection goggles or face protector
. Ear protectors

Properly reserved fuel
Whistle (for collaboration or emergency)

. Always be sure to include this manual when selling, lending, or otherwise
transferring the ownership of this product.
this manual to use this brush cutter.
* WORKING GEAR AND CLOTHING
clothing and protective equipment as follows.
(1). Helmet
(2)
@) (3). Thick work gloves
(4). Non-slip-sole work boots
(5)
) B. And you should carry with you things as follows.

(1). Attached tools and files

(2).

(3). Spare blade
(4). Things to notify you working area (Tope, Warning signs)
(5).
(6).

Hatchet or saw (for removal of obstacles)

C. Never use your brush cutter when wearing pants with
loose cuffs, when wearing sandals, or when barefoot.

o WARNING CONSIDERING HANDLING OF FUEL

a. The engine of this product is designed to run on a mixed fuel
/4 which contains highly flammable gasoline. You should never

/ / store cans of fuel or refill the fuel tank in any place where

there is a boiler, stove, wood fire, electrical sparks, welding

sparks, or any other source of heat or fire which might ignite
the fuel.

b. Smoking while operating the brush cutter or refilling its fuel tank is extremely
dangerous. Always be sure to keep lit cigarettes away from the brush cutter at all
times.

c. When refilling the tank always turn off the engine first and take a careful look
around to make sure that there are no sparks or open flames anywhere nearby
before refueling.

d. If any fuel spillage occurs during refueling, use a dry rag fo wipe up spills before
turning the engine back on again.

e. After refueling, screw the fuel cap back tightly onto the fuel tank and then carry
the brush cutter to a spot 3m or more away from where it was refueled before
turning on the engine.

e THINGS TO CHECK BEFORE USING YOUR BRUSHCUTTER

a. Before beginning work, look around carefully to get a feel for the shape of the
land, or grass to be trimmed and whether or not there are any obstacle which
might get in the way while working, and remove any obstacles, which can be
cleared away.

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



@ BAAEPUN C&M reynAn

MHCTPYMEHTMUTE BbDbNTAPWUA

b. The area within a perimeter of 15m of the person using the brush cutter should
be considered a hazardous area into which no one should enter while the brush
cutter is in use, and when necessary yellow warning rope, waming signs
should be placed around the work area. When work is to be performed

simultaneously by two or more persons, always
check the presence and locations of others so as to
@ & maintain a distance each person sufficient to ensure
safety.
0 x ¢. Make sure that there are no loose screws or bolts,
JAVAWAAY fuel leaks, ruptures, dents, or any other problems,
X /;Q\x which might interfere with safe operation. Be
W H 0 0 especially careful to check that there is nothing wrong

with the blades or with the joints by which the blades

are attached to the brush cutter.

Never use blades that are bent, warped, cracked,
broken or damaged in any way.

Keep the blade always sharp.

Filling the cutting edges, keep the end comer sharp
and round the root of the edge.

. Check the bolt to fasten the blade and be sure the
blade turns smoothly without abnormal noise.

o NOTES ON STARTING THE ENGINE

1. Take a careful look around to make sure that no obstacles exist within a
perimeter of 15m or less around brush cutter.
2. Place the body of the brush cutter onto the ground in a flat clear area and hold it
firmly in place so as to ensure that neither the blades nor the throttle come into
contact with any obstacles when the engine

starts up
" 3. Place the throttle into the idling position when
i a starting the engine.
4. After starting up the engine, if the blades
! continue to rotate even after the throttle has

been moved fully back, turn off the engine and
check the throttle wire and other parts.

o KICKBACK SAFETY PRECAUTIONS
< A dangerous reaction may occur when the spinning blade contacts a solid object
in the critical area. Its is called Kick back. As a result. The operator can lose
control of the unit, which can cause serious or fatal injury.
Avoid kickback; observe the safety precautions below strictly.
1. Before beginning work, clear your working area and remove grasses around the

obstacles.

2. When using your brush cutter, don't grip other parts except the handles.

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634

GSM 0889/ 444 991

Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknaa 33
Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



-9

BAAEPUN C&M reynAn

@ MHCTPYMEHTMUTE BbDbNTAPWUA

3. When using your brush cutter, never take your eyes off. If you need to place the
throttle into the idling position.

4. When using your brush cutter, don't let the unit get closer to your feet nor raise
the unit above your waist.

NOTES ON TRANSPORTATION
. Make sure the appropriate blade cover is in place.
2. When transporting by car, fix the unit firmly using a rope. Don't transport by
bicycle or motorcycle because it is dangerous.
3. Never transport the brush cutter over rough roods over long distances without first
removing all fuel from the fuel tank. As doing so might cause fuel to leak from the
tank.

OPERATION SAFETY PRECAUTIONS

. Grip the handles of the brush cutter firmly with both hands. If you suspend the
work, place the throttle into the idling position.

2. Always be sure to maintain a steady, even posture while working.

3. Maintain the speed of the engine at the level required to perform cutting work, and

never raise the speed of the engine above the level necessary.

4. Ifthe grass gets caught in the blade during operation, or if you

L need to check the unit or refuel the tank, always be sure to
turn off the engine.

5. If the blade touches a hard object like a stone, immediately
stop the engine and check if something is wrong with the
blade. If so, replace the blade by new one.

6. If someone calls out while working, always be sure to turn off

* the engine before turning around.

7. Never touch the spark plug or plug cord while the engine is in

M operation. Doing so may result in being subjected to an
electrical shock.

8. Never touch the muffler, spark plug, or other metallic parts of
the engine while the engine is in operation or immediately
after shutting down the engine. Doing so may result in serious
burns.

9. When you finish cutting in one location and wish to continue
work in another spot, turn off the engine and turn the unit as
the blade faces away from your body.

o MAINTENANCE SAFETY PRECAUTION

1. Perform the maintenance and checking operations described in this manual at
regular intervals. If any parts must be replaced or any maintenance or repair work
not described in this manual must be performed, please contact a representative
from the store nearest authorized servicing dealer for assistance.

2. Under no circumstances should you ever take apart the brush cutter or alter it in
any way. Doing so might result in the brush cutter becoming damaged during
operation or the brush cutter becoming unable to operate properly.

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, ks."boxypuuie”

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknaa 33

Ten.: 02/ 942 34 00, dakc.:
GSM 0889/ 444 991

02/ 945 4634 Ten./dakc 032/ 953 666 Ten.: 052/ 504 514
GSM 0885/ 808 003 GSM 0885/ 808 004
IIposepun: P.4./24.03.2015r

Ten.: 02/ 925 22 37
GSM 0889/ 334 692



@ BAAEPUN C&M reynAn

MHCTPYMEHTMUTE BbDbNTAPWUA

3. Always be sure to tumn off the engine before performing any maintenance or

checking procedures.

4. When sharpening, removing, or reattaching the blade proper tools and equipment

to prevent injury.

5. When replacing blade or any other parts or when replacing the oil or any
lubricants, always be sure to use only products or products which have been
certified by for use with the brush cutter.

5. SETUP

o ENGINE AND MAIN PIPE

F4

N

Align the hanger and the fuel tank, using attached 4
socket screws, secure the connection firmly with equal
force.(F1)

(1) Fuel tank

(2) Bolt

(3) Main pipe

+ HANDLE

1. Loosen the 4 bolts on the handle bracket. (F2)

2. Insert the right handle (throttle lever is attached)
and the left handle assembly into the bracket and
retighten the bolts securely.(F2)

(1)Handle bracket

(2) Right handle

(3) Balt

(4) Left handle

(5) Engine side

o SAFETY GUARD

Attach the safety guard to the gear case and fix it with
the clump and 2 bolts (M5%25) securely.(F3)

(1) Bolt

(2) Clamp

(3) Main pipe

(4) Safety guard

+ THROTTLE WIRE

After fitting up the wire, make sure that the throttle
cable Is put in the throttle lever. If not,it is very
dangerous because the engines rotate after releasing
the throttle.
},  Hook tha cabk end inlg the hole of tha tivaitis taver. And sl

the cabla In iha evew as thown in The pictue. {F4)
% Wiop the bond 1o cf the thioitis wie i fiuad wilh tha hondie,

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



4@ BAAEPUN C&M reynAn

MHCTPYMEHTMUTE BDNTAPWUA
(1) Hole
(2) Throttle cable
F5 e ADJUSTING THE THROTTLE CABLE

1. After releasing the throtlie lever, pull the throttle
wire. The normal play is 1 or 2mm when
measured at the carburetor side end.

2. Ifthe play is shori or long, take off the air
cleaner cover, loosen the lock nut and adjust
the play.(F5)

(1) Adjustnut
(2) Locknut

o INSTALLING THE METAL BLADE (F6)

1. Set the inner holder fo the gear shaft, and furn to fix with the attached L-shaped
bar.

2. Putthe blade on the inner holder with the face with letters fo the gear case, and
match correctly the hole of the blade to the projection of the inner holder,

3. Setthe outer holder to the gear shaft with the hollowed face 1o the blade.

4. Put the attached bolt cover on the outer holder and
Fé T secure it with the bolt (left screw) together with the
. = | spring washer and the washer.
= Y~
o | (1) Nut
@) (2) Spring Washer
@Y (3) Washer
= 0
= (4) Outer holder
) (5) Blade
® ﬁ/ :_/ (6) Gear shaft
- (7) Bar
(®) (8) Inner holder
(9) Gear case

¢ INSTALLING THE NYLON CUTTER (F7)

1. Set correctly the inner holder and the outer

F7 . holder o the gear shaft.

2. Screw the attached bold (M10 Lefl) into the gear
—{0 shaft and secure it with the spanner.

~— @ 3 Screw the nylon cutter into the bolt by fixing the

inner holder with the L-shaped bar and tighten it

manually.

@ Keep bolts and washers 1o install the blade
carefully so as not to lose them.

8

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknaa 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



_§QBAAEPWN C&M PYN AL

(1) Gear Case
(2) Bolt

(3) Nylon cutter
{4) Nylon cord

6. FUEL  [yARNING

= Gasoline is very flammable. Avoid smoking or bringing
74 y any flame or sparks near fuel.
/ = Wipe up all spills before starting the engine.
= Make sure to stop the engine and allow it cool before
refueling the unit.
= Keep open flames away from the area where fuel is handled or stored.

IMPORTANT

= Never use oil for 4-cycle engine use or water cooled 2-cycle engine. It can cause
spark plug fouling exhaust port blocking or piston ring sticking.

= Mixed fuels which have been left unused for a period of one month or more, may
clog the carburetor or result in engine failing to operate properly. Put remained

fuel into an airtight container and keep it in the dark

and cool room.

Mix a regular grade gasoline (leaded or unleaded,
alcohol-free) and a quality-proven motor oil for
air-cooled 2 cycle engines.

RECOMMENDED MIXING RATIO

GASOLINE 25: OIL 1

the oil should be special for two-stroke-engine

7. OPERATION

» STARTING THE ENGINE
WARNING

= Before starting the engine, inspect the entire
unit for loose fittings or fuel leaks, and the
cutting attachment is properly installed and
securely fastened.

= Place the unit an a flat, firm place. Keep the
cutting head clear of everything around it.

1. Turn the cap to the fuel tank to make sure that it is

fixed on tightly. (F8)
{1)Cap
(2)Fuel tank

9

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "Crpoescko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



BAAEPUN C&M reynAn

@ MHCTPYMEHTMUTE BbDbNTAPWUA

2. Open the fuel tank cock. (F9)
3. Move the choke lever to the closed position. (F9)
(1) Choke lever
(2) Fuel cock
(3)Close
(4) Open
- (5) Close
e (6) Open

NOTE

When restarting immediately after stopping the engine, move the choke lever to the
open position.

4. Set the throttle lever to the starting position. (F10)
2 (1) Idling

(2) Starting(1/3~1/2 open)

(3) Full throttle

NOTE

When restarting immediately after stopping the engine,
move the throttle lever to the idling position.

F10 (1)

5 While holding the unit firmly, pull out the starter rope
F11 \\ quickly {(F11).

6 After the engine has started, open the choke
gradually.

7 Allow the engine to run for 2 to 3 minutes to warm

up.
STOPPING THE ENGINE

1. Return the throttle lever to the idling position.
2. Push the engine switch button.

EQUIPPING THE SHAWL BAND (F12)

Equip the attached shawl band. (F12)

. Turn on the engine, return the throttle lever to the
lowest speed position, and put the shawl band hook
to the hanging part of the machine.

3. Adjust the length of the shawl band so that the blade

may be parallel to the ground in the working position.

In order to prevent slack during operation, turn up the extra part of the band

from the buckle.

o CUTTING OPERATION

F12

N —

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004

IIposepun: P.4./24.03.2015r

Codua 2227, k8."Boxypue”
6yn. "Espona” 180, cknaa 33
Ten.: 02/ 925 22 37

GSM 0889/ 334 692



@ BAAEPUN C&M reynAn

MHCTPYMEHTMUTE BbDATAPMUSA
METAL BLADE USAGE

¢ Always cut by guiding the head from your right
to left.

¢ A metal blade cut best up to the point 1/3 from
the edge. Use that area for cutting shrubs,
tough and thick weeds. For cutting young grass,
you can use up to 2/3 fro the tip of blade.

¢ Adust the engine speed according to the
cutting objects. Cut the young grass at middie
speed, and cut shrubs or tough and thick
weeds at high speed.

(}

(1) For branches and trees

(2) For grass and weeds

(3) Direction of cutting

(4) Direction of rotation

IMPORTANT

Operating at low speed makes it easier for grass,
weeds, or twigs to become caught up the blades, and also it makes the shaft and
clutch wear down more quickly.

NYLON CUTTER USAGE

= Nylon cord consumes large power. Please note that the engine rotation speed in
operation should be 50% as large as when using metal blade.

@ Nylon cutter cut grass with the power of cord rotation. If you try to cut grass for
the length of cord at one time, rotation speed becomes lower due to resistance
and you cannot cut grass well. In case of large resistance, get the nylon cutter
away from grass once, make the rotation speed higher, and cut a small amount
of grass at one time.

= |fyou try to cut grass by swinging the brush cutter in the reverse way (from left to
right), scraps fly in the direction away from the body. You can avoid getting your
clothes dirty.

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknaa 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



4@ BAAEPUN C&M reynAn

MHCTPY
8. MAINTENANCE

F13

(@ p_ 4
& o

MEHTMWTE BbDbNTAPWUA

« BLADE

= Sharpen each cutting edge and make sure the
bottom corner is rounded. (F13)
= Do not cool the blade with water in case of using

grinder. It may couse cracks on blade.

AFTER 25 HOURS OF USE

|

11

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634

GSM 0889/ 444 991

Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknaa 33
Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



@ BAAEPUN C&M reynAn

MHCTPYMEHTMUTE BbDbNTAPWUA

* AIR CLEANER

Check and clean the filter element in warm, soapy
water as required. Dry completely before installing. If
the element is broken or shrunk, replace with a new
one. (F14)

(1) Cover

(2) Element

(3) Screen

(4) Body

IMPORTANT

A clogged air filter may increase fuel consumption while cutting down the engine
power.

And operate the brush cutter without the air filter or with a deformed filter element will
quickly ruin the engine.

e FUELFILTER

Take the filter out of the fueling port using a small wire hook. Disconnect the filter
assembly from the fuel pipe and unhook the retainer to disassemble it. Clean the
components with gasoline.

IMPORTANT]

A clogged fuel filter may cause poor acceleration of the engine.

* SPARK PLUG

Remove and inspect the spark plug and clean the
electrodes as necessary with brush.
The spark gap should be adjusted t0 0.6 ~0.7mm. (F15)

0.6~0.7mm

* INTAKE AIR COOLING VENT

<= Check the intake air-cooling vent and the area around the cylinder cooling fins,
and remove any waste, which has attached itself to the brush cutter.

IMPORTANT

= Note that failing to do so could cause the muffler to become overheated and that
this in turn could cause the brush cutter to catch on fire.

12

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



4@ BAAEPUN C&M reynAn

MHCTPYMEHTMUTE BbDATAPNA
- GEAR CASE
Supply multi-purpose grease at every 25 hours of use.
Remove the cutter holders to arrange for old grease to
exit. (F16)
&
AFTER 100 HOURS OF USE

* MUFFLER

1. remove the muffler, insert a screwdriver into the vent, and wipe away any carbon
buildup. Wipe away any carbon buildup on the muffle exhaust vent at the same

time.

o

tighten all screws, bolts, and fittings.

3. Check to see if any oil or grease has worked its way in between the clutch lining
and drum, and if it has wipe it away using oil-free, lead-free gasoline.
4. Remove the float cabin of the carburetor and clean the inside.

* ADJUSTING CARBURETOR

IMPORTANT

A wrong adjustment may cause damage to your unit. If the engine does not run well
after adjusting the carburetor, please contact the shop where you purchased the

product.

o |DLE ADJUSTMENT SCREW (F17)

This is the screw to adjust the engine rotation when the throttle lever is set to the

lowest speed position. If you turn right (clockwise)
rotation increases, and left (counterclockwise)
decreases. In case the blade continues to rotate or
engine stops when you return the throttle lever
completely to the original position, make readjustment.
(1)idle adjustment screw

(2)High

(3)Low

MAINTENANCE BEFORE STRORAGE
1. Brushing off dirt form the machine, check damage or slack of each part. If you

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknaa 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



_§QBAAEPWN C&M PYN AL

find out abnormalities, repair them for the next use.

2. Euxtract fuel from the tank, and loose the drain screw of the float cabin to extrac
fuel, turn on the engine, and leave it running until it stops naturally.

3. Remove the spark plug and put in 1~2cc of 2- cycle oil in the engine. Draw the
starter rope 2~3 times, set the plug back, and stop it at the contraction position.

4. Apply anti-rust oil to the metal parts such as the throttle wire, put the cover on the
blade, and keep it indoor avoiding dampness.

9. SPECIFICATION

Power -1.3 Kw

Engine type - 1E40F cylinder, petrol, two- stroke, air-cooled
Displacement - 42.7 cc

Idle speed - 3000 min™

Maximum speed - 7000 min™

Ratio of gasoline/ oil - 25:1

Fuel tank capacity - 1200 ml

Carburetor: RUIXING MT16
Sound power level - 112 dB
Size of blade ® — 254mm
Size of nylon cord ® — 2.5mm

NOTE. This owner's manual is used for upper-listed machines, if slight differences
from these machines happen; the substantial machine decides the specification of
technology and usage.

10.GARANTION CONDITIONS:
WARNING! NO WARRANTY REPLACE HIGH WEAR PARTS SUCH AS CUTTING TOOLS
( KNIVES, TUBES, CHAINS) SEALS, GASKETS, SPARK PLUGS, STARTER, ROPES,

STARTER PULLEY, GUIDE RAIL, GUIDE WHEELS, CLUTCH, FILTERS, WHELLS
SUSPENSION, BELTS, SAFETY ATTACHMENTS TO CUTTING TOOLS AND SIMILAR.

=

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaumoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "Crpoescko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./pakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



@ BAAEPUA C&M FPYN AL

No. parts description number| No. parts description number
1 |BOLT M5X16 3 26 |FLY WHEEL
2 |ATR FILTER ASSENBLY 1 27 |PLAIN CUSHION §38

2-1 |AIR FILTER COVER 1 28 |NUT MSXI. 23

2-2 |AIR FILTER 1 29 |EVEN FILLING PIECE

2-3 |SPOONGE 1 30 _[CLUTCH

1
2

2-4 |AIR FILTER MOTHER BOARD 31 |PROFILE FILLING PIECE §10
3 |BOLT M5X35 32 |CLUTCH SET BOLT

BENT AXES ASS'Y

19 [WOODRUFFKEY

20 [BEARING 6202

21 [LOCATING PIN

22 [GATHERS THE BOX PAPER PAD

—_
oo

47 |CYLINDER BODY SHELL
48 |CYLINDER COVER

49 |BOLT M5X20

50 |MUFFLER PAPER PAD
51 |MUFFLER ASS'Y

52 |BOLT M5X12

53 |BOLT MEX55

54 |MUFFLER COVER

23 |LEFT BOX BODY
24 |0IL SEAL § 15X § 30X7
25 |BOLT M5X30

4 |SHOOT THE PAD 65 10 | 33 |LEFT COVER
5 _|CARBURETOR ASSY 1 | 34 [BOLT M5K25
6 |CARBURETOR PAPER PAD 1 | 35 |RIGHT BOX BODY
7 {BOLT M5%25 2 | 36 |OIL SEAL $12X ¢ 22%7
8 |INTER PIPE 1 37 _|STARTS THE DRIVING PLATE
9 |INTER PIPE PAPER PAD 1 38 |NUT MBX1.25
10 [SPARK PLUG 1 | 39 |ALUMINUM FILLING PIECE
11 [CYLINDER BLOCK 1 | 40 |HAND PULLING STARTER
12 [CYLINDER BLOCK PAPER PAD 1 | 41 |BOLT M3X20
13 [PISTON RING 2 | 42 [HIGH-PRESSURED PACKAGE ASS'Y
14 [PISTON 1 | 43 |OIL POT CLAMP
15 [PISTON PIN ELASTIC RING 2 44 |0IL POT ASS'Y
16 [PISTON PIN 1 45 |BOLT M5X20
17_[ROLLER_BEARING 1 | 46 |0IL POT PROTECTION FRAME
1
1
2
4
1
1
1
4

— oo l—l—|lel—|l—]—|o]|l—|—]—]a]—|— |~ |~ |—|— = |— [to [to |— [to [— [to |—

Engine

=

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaumoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "Crpoescko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./pakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



@ BAAEPUN C&M reynAn

MHCTPYMEHTMUTE BbDbNTAPWUA

NnPEBOA HA OPUTUHANTHA MHCTPYKLUUA 3A EKCITNIOATALUA HA

BEH3UMHOB TPUMEP

0503KPGTO0114

ce

PA3ACHEHMA 3A BUOA NPEAYNPEXOEHUSA 3A YNOTPEBA

| NPPEQYNPEXOEHMUE |

Toaun 3Hak nokasea, MHCTPYKUNN, KOUTO TpFIGBa Aa ce crieaBart, 3a a ce npeaoTBpaTdaT aBapun,
KOUTO MoraT ga goBsedart A0 TeXXKa TeJieCHa noBpena uin CMbpT.

| BAXHO |

Toaun 3Hak nokasea, MHCTPYKUNN, KOUTO Tpﬂ6Ba Aa ce crensa, unm Hecna3BaHeTo We aosene

00 MexXaHn4Hn noBpeaun, aBapud, Uin LWETH.
e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

-~

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



_§QBAAEPWN C&M PYN AL

MPENOPBLKA

To3u 3HaK nokassa, NOfIE3HN CbBETU N HACOKMU npwn N3nosfisBaHETO Ha NpoayKTa.

CnobpiKkaHue

. PA3MONOMEHUE HA YACTUTE ..o, 2
.MPEAYMPEXIOABALLM 3HALM MO MALLMHATA 3
. CUMBOJIV MO MALLMHATA ... 4
. MEPKW 3A BESOMACHOCT ....oovoveeeeeee e 4
CTTIOBSIBAHE ..o 8
J0)= 1= YT 10
.PABOTA C MALLMHATA ... oo oo 10
TIPODUIAKTUKA ..o e 12
 CTIELAGUKALM ..o 15

OCO~NOOUITR_hWNPE

. PASNOJNIOXKEHUE HA YACTUTE

. [opuBeH pe3epBoap

. CtapTtep

. BbagyweH puntbp

. CtaHok

. byTOH 3a Bknto4BaHe Ha aBuraTens
. Kopnyc

. KoH3ona

. PbkoxBaTka

. MogBexgalwa nnaHka
10. pocenupaly noct
11.[pocenupalyo Xusno
12.BbHwHa Tpbba
13.MNpegnasuTten
14.Pepnyktop

15. PexeLl HOX

OCoO~NO UL WNEFE B

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Llentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnagucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "Crpoescko woce” 3 6yn. "AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dpakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

IIposepun: P.4./24.03.2015r



BAAEPUN C&M FPYN A

(1) (2) 3) (4)

1). lpoyeTeTe pbLKOBOACTBO Ha NOTpebuTens npeau pabora ¢ Tasn malwunHa.

2). Hocerte 3awuTHU cpeacTBa 3a rnasaTa, ouUTe U yLuuTe.

3). MpepynpexpeHne/ BHumaHue.

4). Bcuyku aeua, MUHyBa4dvm M NOMOLLHMLM Aa ce OTCTPaHAT Ha 15 meTpa oT maluMHaTa.

BAXHO

Ako npeaynpeanTenHutTe nnomo6u ce oTNensAaT Unu ce 3aMBbpPCAT U € HEBB3MOXHO Aa ce
npoyeraT, T A6Ba aa ce CBDbpXeTe C Tbproseua, oT KOUTO CTe 3aKynunun npoaykKra, 3a
HoBM nnomou. NoctaBeTe HOBUTE NSIOMOUN Ha HEOOXOAMMOTO MSACTO.

BHUMAHMUE:

Hukora He moaudmumpanTe mawmHara.
Hve HAMa Ooa noemeM rapaHuMsiTa Ha MallMHaTa, ako s1 usnonssarte cneg moaudpuumpaHe
UNnun He cnasBaTe nNpaBuUsiHaTa ynoTpeba onncaHa B pbKOBOACTBOTO.

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Lentpanen opuc: Copua 1517 Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnaanucnasoso” Codua 2227, ks."boxypuuie”

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. “AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33

Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./pakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37

GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITpoepwit: P.Y./24.03.2015r



Q

BAAEPUN C&M FPYN A

3. CUMBOJIN 10 MALLMNHATA

3a 6esonacHaTa ekcnnoaTauums 1 nogapbxka, CAMBONMTE ca n3abndaHn penedHo
B @ | Bupxy mawmHara

CbrnacHo Te3n Hagnmucu, Monsi 4a BHUMaBaTe Ja He JOMNyCHeTe rpeLuka

(a). OTBOp 3a 3apexpaaHe ¢ "BEH3VH CMEC"

N ® | Msacto: KAMAUKATA HA TOPVBHWA PE3EPBOAP

(b). Nocoka 3a 3aTBapsiHe Ha gpocesioBaTa Knana
Msacrto: KAIMAKA HA Bb3aYWHNA PUNTTBP
(c). MNMocoka 3a oTBapsiHE Ha ApocenoBara knana
MscTo: KAMAKA HA Bb3aYLWHNA dPUNTBP

4. MEPKWU 3A BE3OINACHOCT

NPEOU OA 3ANOYHETE YNOTPEBATA HA MALLMHATA

A. MNpoyeTeTe TOBa PpbKOBOACTBO Ha NOTPebuTensa BHUMATENHO, 3a Aa
pa3bepeTe kak ga paboTuTe NpaBuIHO C TOBa YCTPOMCTBO.

B. To3n npoaykT e npegHa3HadeH 3a ynotpeba npu psisaaHe Ha TpeBa U
HUKoOra He TpsiGBa 4a ce 1M3nons3Ba 3a ApYyru Lenu.

C. Hukora He TpsibBa ga wm3non3eaTe Tasu MallMHa, ako CTEe MoA
BNMUSIHWE Ha amnkoOXOJl, ako CTE€ U3TOWEH unu npu Ge3cbHMe , Korato
CcTpagate OT CBbHAMBOCT, B pe3ynrarT Ha NpMEMaHe Ha fekapcTsa
NPOTMB HACTUHKa, UM MO BCSAKO APYro Bpeme, KoraTo CbllecTByBa
Bb3MOXHOCT Baluarta npeleHka ga € HapyLlleHa unm Moxe ga He cTe B
CbCTOSIHME [a ynpaBnsdBaTe MaluMHaTa npaBuIIHO M nNo GesonaceH
Ha4MH.

d. la ce um3barea pabota Ha ABuratens B 3aKPUTM MNOMELLEHUS.
OTtpaboTeHuTe raszoBe CbabpKaT BPEAEH BLINEPOAEH OKCUA,.

e. Hukora He mn3nonseante mawunHaTa npu ob6CTOATENCTBA KaTto TE3w,
onucaHu no-gony:

1. KoraTto 3emsaTa € xnb3rasa unu npu gpyru ycrioBusi, NpyM KOUTo He 6u
6Mno Bb3MOXHO Oa noaabpXaTe NOCTOSIHHO CTabunHO paBHOBECKME,
A0KaTO n3non3sate MalluHaTa.

2. lpe3 HowTa, Npu nNodABa Ha TeXKa Mbrna, UM no BCSAKO ApYro
Bpeme, korato nonespeHmeto Bu moxe ga e orpaHuMdeHo M ToBa ga
3aTpygHsiBa icHaTa BUAMMOCT Ha paroHa.

3. lNo Bpeme Ha obxgoBHM Oypu, NO BpeMe Ha rpbMOTEBMYHA Byps, No

BpeMe Ha Oypsi UM cuneH BSATbP, WM MO BCSKO OPYro BpeMe, KOraTo KnMMaTUyHWUTE
yCNoBMS MOraT [ia HanpaBsAT OnaceH 3a M3norn3BaHe TO3U NPOAYKT.

f. Mpy u13non3BaHEeTO Ha TO3W MNPOAYKT 3a MbpBM MbT, Npean pfa 3anoyvHeTe
aencrButenHaTa paborta. Hayyete ce ga 6opasuTte ¢ MawumMHaTta ot kBanuduumnpaH paboTHUK.
g. Mpn nunca Ha CbH, nNpu ymopa, vnNn nNpu U3NYECKO WU3TOLLEHWe, CTerneHTa Ha

cbCpefoToYaBaHe e no-marka, a ToBa OT CBOS CTpaHa BOAW [0 3r0Morykn n HapaHaBaHus. [la
ce orpaHuyun BpemMeTo, Npes3 KOeTo MallmHaTa ce U3Mnon3sa HenpeKkbCHaTo HAKbAE A0 okono 30-
40 MNHYTK Ha cecms, ¢ noumBkn mexay cecunte 10-20 MUHYTWN.

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HauymoHaneH)

Lentpanen opuc: Copua 1517

Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnaanucnasoso” Codua 2227, k8."Boxypue”

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. “AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33

Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./pakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37

GSM 0889/ 444 991

GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITpoepwit: P.Y./24.03.2015r



@ BAAEPUN C&M TPYN AR

Cbwo Taka ce crapante obLOTO Bpeme Ha paboTa ¢ MalumMHaTa Ha geH Aa e 2 yaca unu no-
Marnko.

h. 3anaseTe ToBa ynbTBaHe Ha JIECHO MSACTO, 3a Aa MOXeTe Aa
—e (2 npoyeTteTe HeOHXOAMMOTO MO-KbCHO, KOraTo Bb3HUKHAT BLNPOCH.
i. BuHarm npepaBanTe TOBa pPBLKOBOACTBO Npu npopaxbarta, npwu

3aemMaHe WM Jpyro npexBbplfisiHe Ha COOCTBEHOCTTa Ha ToO3M

NPOAYKT.
®) M () J. He nossonsiBanTe Ha AeuaTa Wnv Ha HAKOW ApYr, KONTO He MoXe Ja
pas3bepe HambMHO YKa3aHWATa, AadeHM B TOBa PbLKOBOACTBO, Aa

nonsea Tasu MalluHa.
4

&7

PABOTHU NPUHAOJIEXXKHOCTU U OBJIEKITIO

A. Korato wu3nonsBate MawwuHaTa, TpAOBa pga HocuTe
noaxoAsLWoTo O6GMeKno 1 3alWMTHU CpeacTBa, KakTo crneasa.
(1). Kacka
(2). 3awuTHU o4mMna nnNn macka 3a nueTo
(3). debenu paboTHU pbKaBmLK
(4). PaboTHu 6oTyLmM ¢ NnogMETKU NPOTUB NOAXTb3BaHe
(5). AHTUOHN.

B TpsabBa pa Hocute CcbC cebe cu  crnegHuTe  Hewa.
// (] (1). Hann4HUTE MHCTPYMEHTU U MUK

(2). Nopueo 3aTBOPEHO A06PE B CbA

(3). Pe3epBeH HOX

(4). CpegcTBa 3a yBegoMrieHve, Ye ToBa e paboTHa nnowy (NpeaynpeanTenHu
3Haum)
(5). CBupka (3a nomoL, i Npu aBapunHU cryyamn)
(6). BpagBuyka Unun TPUOH (3a NpeMaxBaHe Ha NPEeYKn)

C. Hukora He M3nonapanTe MaluMHaTa, KOrato HOCUTE MaHTasfIOHU C LLNPOKU Kpadosiu,
KoraTto HocuTe caHganum, Unm KoraTto crte 6oc.

« BHAMABAWUTE NP PABOTA C FOPUBO

A. [Buratenat Ha TO3W MPOAYKT € npeAaHasHadyeH ga paboTu Ha CMECeHO ropuBO, KOETO
cbabpXKa CUNHO 3ananum 6eH3nH. Hukora He cbxpaHsaBaiTe CbA0BE C FOPMBO UMK 3apexaanTe
pesepBoapa C ropMBo, Ha MSICTO, KbETO MMa KOTeN, roTBapcka neyka, xxapasa, enekTpu4ecku
NCKPW, 3aBapbyHM UCKPU, UMK BCAKAKbB APYr U3TOYHUK HA TOMMMHA MUK OrbH, KOWTO MOXe Aa
Bb3nramMmeHn ropuBoTo.

B. lNyweHeTo npu ekcnnoatauusi Ha MawuHaTa WUnu npv 3apexaaHe HeviHus pesepBoap e
N3KNIOYUTENHO onacHo. BuHarn apbxTe 3ananeHuTe uurapu ganed oT mawuHaTa Mo BCSKO
Bpeme.

C. MNpu 3apexnaHe Ha pesepBoapa BUHarKM MbpBO U3KIHOYBaNTE ABUraTens U BHUMATENHO ce
ornefanTe 3a Aa CTe CUMYPHU, Ye HAMA WUCKPU UMM OTKPUT NrambK HAKbAe Habnuso npeam
npesapexaaHe.

| e |

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HauymoHaneH)

Lentpanen opuc: Copua 1517 Mnospaus, c.Tpya 4199 Bapna 9000, k8. "Bnaanucnasoso” Codua 2227, k8."Boxypue”

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. “AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33

Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./pakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37

GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITpoepwit: P.Y./24.03.2015r



@ BAAEPUN C&M TPYN AR

D. MNpu pasnue Ha ropuMBo NO BpeMe Ha 3apexaaHe, M3MonaBaiTe cyx napuan 3a nonveaHe Ha
pasnuBa npeau NOBTOPHOTO 3ananeaHe Ha ABuraTens.

E. Cnep npesapexaaHe, 3aBUiiTe NTbTHO KanaykaTa 3a ropMBOTO 06paTHO BbpXy pe3epBoapa
3a ropuBo U crnepj ToBa NpeHeceTe MaluMHaTa Ha 3 MeTpa unu no-aaneyd oT MsCTo , KbAeTo e
CTe 3apexnaanu npeau BKIYBaHe Ha ABuraTensi.

AN KAKBO A NPOBEPUTE NPEOM OA U3NON3BATE MALLMHATA
YA /:\%K"
o

A. MNpeaun 3anoysaHe Ha paboTa, orneganTe BHMUMATENHO, 3a Aa Nnony4ute
= npeacTaBa 3a opmaTa Ha TepeHa, uUnu TpeBaTa, KoAaTo TpsGBa ga ce

::@\:% NOYMCTBA M Aanv MMa UINN He HAKaKBM NPEYKM, KOUTO MOXe Aa 3acTaHaT Ha
nbTss Bu no Bpeme Ha paboTa n npemMaxHeTe BCUYKWM MPEnsiTCTBUS, KOUTO

v\ moraT Aa 6baaT npemaxHaTu.

B. PaioHbT B nepumeTbp OT 15 MeTpa OKono nuueTo, KoeTo M3nonsesa MallnHaTta, Tpsabea aa
Ce cyMTa 3a onacHa 30Ha, B KOSITO HMKOW He BvBa Aa BnM3a AoKaTo MalumHa paboTu u Korato e
Heobxoammo TpsbBa Aa 6GbaaT NOCTaBeHU OKOMO 30HaTa Ha paboTa npeaynpeauTenHo XbTo
BbXe M npeaynpeauntenHun 3Haun. Korato pabotata ce nssbpluBa €4HOBPEMEHHO OT [BE UMK
noseye nuua, BUHArKM npoBepsiBanTe MNPUCHCTBMETO WM MECTOMOSIOKEHMETO Ha Apyrute
paboTelun, Taka 4Ye da ce nasy JOoCTaTbyHa OMCTaHUMSA Mexady xopaTa, 3a a ce rapaHTupa
BesonacHocTTa uMm.

C. YBepeTe ce, 4ye HsaAAmMa xnabaBu BMHTOBE MM GOMTOBE, T€Y Ha rOPUBO, CMYKBAHWUS,

BANBOHATMHM wunu gpyrn npobrnemu, kouto 6mxa MmanuM OTHOleEHWe KbM 6e3onacHaTa

ekcnnoaTtaumsi. bboete BHMUMAaTenHW Korato npoBepsiBaTe€ CbCTOSHUETO Ha HOXOBETe UMK
KpenexuTe, C KOUTO HOXKOBETE ca NMPUKPEMNEHN KbM MalLMHaTa.

TN
D. Hukora He unanonssanTe HOXOBE, KOUTO Ca W3KPUBEHWU, YCYKaHW,
y HanykaHu, CHyNneHn unm NoBpeaeHn No HUKaKbB HaYuH.
E. pbXXTe BUHaArn Hoxa 3aoCTpPEH.

F. Mpu 3aTouBaHe Ha pexeluTe pbOoBeE, OCUrypeTe OCcTpoTa Mo Kpas M B OCHOBaTa Ha pbba.

g. MpoBepeTe bonTta 3a 3aKkpernsaHe Ha HOXa U Cce yBepeTe, Ye OCTPUEeTO Ce BbpPTU MMaako bes
aHopMaJiHu WymMmoBe.*

NOACHEHUA 3A CTAPTUPAHE HA ABUIATENA

1. BHumaTtenHo ornegante, 3a Aa ce yBepuTe, Ye He CblUecTByBaT NPEnsTCTBUS B
nepuMeTbp OT OKONo 15 MeTpa unu no-marnko oKono maluMHaTa.

D

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HauymoHaneH)

Lentpanen opuc: Copua 1517 Mnospaus, c.Tpya 4199 Bapna 9000, k8. "Bnaanucnasoso” Codua 2227, k8."Boxypue”

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. “AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33

Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./pakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37

GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITpoepwit: P.Y./24.03.2015r



@ BAAEPUN C&M TPYN AR

2. lNocTaBeTe TANOTO Ha MalMHaTa BbpXy 3eMSATA Ha MIOCKO, YUCTO MACTO U S APbXKTE
34paBO Ha MSICTO, Taka Ye [a ce rapaHTupa, Ye HATO HOXOBE, HUTO pbykaTa 3a rasrta
HsAMa Ja Bnsi3aT B KOHTAKT C KAKBUTO M Aa € Npeyku, Korato ce ctapTupa ABuratensT.

3. MNocTaBeTe knanaTa 3a rasta B MOMOXEHME Ha NpaseH Xod, Mpu cTapTupaHe Ha
ABUraTens.

4. Cnep ctapTvpaHe Ha OBuraTensi, ako HoXa Mpoabiku da ce BbpPTU OOpuv crned kaTo
Knana 3a rasta e 6una npuaBwkeHa HanbfHO obpaTHO, M3KM4YeTe aBuratens u
npoBepeTe BBLXETO 3a knarnaTa Ha rasTta 1 gpyruTe YacTu.

* MEPKU 3A BE3OMNACHOCT MNPU OTKAT

Moxxe oa Bb3HMKHE OMnacHa peakuus , Korato BbPTALMSA Ce HOX NonagHe B KOHTaKT C TBbpPA
npegMeT B KpUTMYHATa 30Ha. Ta ce Hapuya Otkat. B pesynrtar. OnepaTopbT MOXe Aa
n3rybn KOHTPON BbPXY Yypena, KOeTo MOXe Ada MNPUYUHU Cepuo3HM unm  doaTtanHm
HapaHaBaHus. 36areante npean3BUKBaAHETO Ha OTKaT; CbbnogaBanTe CTPUKTHO NpaBunarta
3a 6e3onacHOCT onncaHu no-gony.

1. MNpeau 3ano4yBaHe Ha paboTa, n34mcteTe paboTHaTa NMoLLl U OTCTPaHeTe TPEeBUTE OKOSO
npenaTcTBMATA.

2. Korato nsnonseaTte mMawnHaTta, He 3axBaljanTte Apyrn 4acTtun, a caMo APbXKATE.

3. Korato nsnonaeate maluvHaTa, HUKOra He oTAeNnsnWTe norfega cu oT Hes, ako Tpsibea aa
nocTaBuUTe rasTta Ha npaseH xon.

4. KoraTto u3nonseate MalwuvMHaTta, He pobnuxkaBanTe YCTPOMCTBOTO TBbpAe ©Onm3o [o

a KpakaTa Cu, HUTO ro NoBAuMranTe Hag HUBOTO Ha KPbCTa.

NOACHEHNA OTHOCHO TPAHCMNMOPTUPAHETO
1. YBepeTe ce, 4Ye noaxoasily HOX € Ha MACTOTO CU.

2. Mpu npeBo3 c aBTOMOOWM, 3aKkpeneTe YCTPOWCTBOTO 3A4paBO C
nomowTa Ha BbXe. He TpaHcnopTupaiTe c Berocunen Wnu

* MOTOLMKNET, Thil KAaTO € OMacHO.

"I’m““”””' 3. Hukora He TpaHcnopTvpaiTe MalunHaTta rno YepHu NbTulla Ha Abrv

pa3cToaHusa, 6e3 NbPBO [Aa M3TOUMTE LAMOTO ropyvBO OT pesepBoapa.
Mo TO3n HaumH OM MOrmno Oa ce NPUYMHW M3ThYaHe Ha ropueo OT
pesepBoapa.

MEPKU 3A BE3OINACHOCT NPU PABOTA

1. XBaHeTe OpbXKUTE Ha MallmHaTa 34paBo € ABe pbue. [loctaBeTe
Krnanata 3a rasta B MOJSIOXKEHMEe Ha npaseH xod, Npu crnvpaHe Ha
paboTtata. 2. BuHarm noaaobpxamte crtabunHa, paBHOBECHa Mo3a,

nokaTo paboture.

3. MNogabpxanTe ckOpocTTa Ha ABuraTenst Npu 06opoTH, HEOBXOAMMM 3a M3BBLPLLUBAHE Ha
psi3aHeTO M HUKOra He MoBMLLIABaWTe CKOPOCTTa Ha ABuUraTensi Hag HeobXxoAMMOTO HUBO.

| e |

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HauymoHaneH)

Lentpanen opuc: Copua 1517 Mnospaus, c.Tpya 4199 Bapna 9000, k8. "Bnaanucnasoso” Codua 2227, k8."Boxypue”

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. “AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33

Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./pakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37

GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITpoepwit: P.Y./24.03.2015r



&) BAAEPUUN C&M ITPYN AL

4. AKo TpeBaTa Ce OMOTae OKONO HOXa Mo Bpeme Ha paboTa unM ako umarte Hyxaa na
NpoBepuTe YCTPOWCTBOTO WNW Oa 3apeauTe pesepBoapa, HuWKora He 3abpassaiiTe Oa
U3KMNYMTe aBuUraTens.

5. AKO HOXa [OKOCHe TBbpAM NpegMeTy Hanpumep kaMbk, He3abaBHO crnipeTe gsuraTens u
npoBepeTe Janu BCUYKO € Hapep C Hoxa. AKO e He e Taka, CMEHeTe HOXa C HOB.

6. Ako Hsikom Bu Buka, gokato paboTute, HUKora He 3abpaBsinTe ga U3KNYNTE aBUraTens,
npeaun ga ce obbpHeTe.

7. Hukora He gokocBanTe cBewTa unu kabena Ha kanaykaTta Ha cBellTa, JoKaTo ABuratensaT
€ B ekcnnoaTtaumsa. Ako HarnpaBuUTe TOBa Lle O6baeTe NoAnoXeH Ha eneKTpnyecCkn yaap.

8. Hukora He gokocBaiiTe aycnyxa, CBeLlUTa Unm Apyru MeTarnHu 4acTu Ha ABUraTens, 4okaTo
OBUraTenaT e B eKcnfoataumd, WNu BegHara cnepj KaTo usknouuTte asuratend. AkKo
HanpaBuWTe Taka, ToBa MOXe Aa AoBede 40 CepU03HM U3rapsiHuS.

9. Korato npuknioumTe C psisaHeTO Ha edHO MSICTO M umaTe XenaHwe Aa NpoAbIkuTe Aa
paboTnTe Ha ApYyro MsSICTO, M3KM4YeTe ABuratens u obbpHeTe ypeda B MONOXEHWe, npu
KOETO HoXka CTOM 0GbpHa B NMocoka obpaTHa Ha TSNoTO BU.

NMPEANA3HU MEPKU NPU NPODPUNTAKTUKA

1. 3bpiBanTte npodunaktnkata v npoBepkuTe, ONMcaHn B TOBaA PbKOBOACTBO MNpe3 paBHU
WHTepBanuM OT Bpeme. AKO HAKos yacT TpsibBa ga 6bae 3ameHeHa wunu TpsibBa ga ce
N3BBPLUM NpodUakTMka Unu pemMoHT Ha paboTn, He onnucaHu B TOBa PbKOBOACTBO, MONS Aa
ce CBbpXeTe C npeacraBuTen oT Han-6rM3kua MarasvH, B KOWTO MMa OTOpU3upaH cepBu3 3a
cbaencTeue.

2. Mpn HukakBu obcTosATEncTBa, He pasrnobsBanTe MawmMHaTa UMK 1 NPOMEHANTE MO
KaKkbBTO M Aa € HayMH. AKO HanpasuTe Taka, ToBa MOXe [a AoBefe A0 nospeda B MallmMHaTa
no BpemMe Ha paboTa unu 40 HEBBb3MOXHOCT Ha MallnHaTa Aa (PyHKUMOHMPA NpaBuHoO.

3. Hukora He 3abpasanTe ga usknuuTe AsuUratens, npean U3NbiHEHNETO Ha KakBUTO U [a e
npodounakTUYHM ENHOCTM UK NpoLeaypu 3a nNpoBepka.

4. KoraTo 3ato4ysaTe, NpemMaxsaTe UM MOHTUpaTEe OTHOBO HOXa W3MNonsBanTe NoaxogsLiu
WHCTPYMEHTU 1 0bopyaBaHe 3a NpefoTBpaTsiBaHe Ha HapaHsIBaHUS.

5. Tlpu nogmsiHa Ha HOX WM Ha APYrK YacTU UIIM KOraTo CMEHATE MacrioTo UKW pasfnnyHn
nybpukaHTn, HUKOra He 3abpaBanTte pfa wu3nonsBaTe camo MPOAYKTM, KOUTO ca
cepTuduumpanmu 3a ynotpeba ¢ Tasm malumHa.

5. CTTIOBABAHE

« ABUIrATENl1 KW OCHOBHA TPbBA

MoHTMpanTe KoH3ONnaTta M pes3epBoapa 3a ropuBO, KaTo
nanonaseate npunoxeHnte 4 umbycHn 6onta, 3aTerHete
CcbeAnHeHuaTa 34paBo ¢ eaHaksa cuna. (F1)

(1)FopuBeH pesepBoap

(2)bonT

(3)OcHoBHa Tpb6a

*  PBKOXBATKA
1. Pa3xnabete 4 6onTta Ha TpbOHMSA gbpxaud. (F2)

(2 =

tﬂj - e-mail: info@valerii.com www.valerii.com
Bus:ten. 02/ 942 34 70 (HayunoHaneH)

{!} 108auB, c.Tpya 4199 Bapna 9000, k8. "Bnaanucnasoso” Codua 2227, k8."Boxypue”
H . "CrpoeBcko woce” 3 6yn. “AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33
“'} n./¢akc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37

M 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITpoepwit: P.Y./24.03.2015r

F2




@ BAAEPUN C&M TPYN AR

2.MoctaBeTe AsicHaTa pbKOxXBaTKa (NocTa Ha gpocernoBaTa krana € 3akpeneH) u nasarta
pbKOXBaTKa B TPbOHUA AbpKay u 3aTerHete 6ontoBeTe 34paBo. (F2)

(1)TpbOeH Abpxay
Fs

pedyKTopa u ro 3akpenete
(M5x25). (F3)

(1)bonT

(2)Ckoba

(3)OcHoBHa Tpbba
(4)NMpepnasurten

 OPOCEJNIUPALLO

NMPEAYNPEXAEHUE

Cnepn MOHTaXxa Ha XXWnoTo
apocenupalwus noct. Ako
3aWoTO ABUraTenar e
ocBoboOXaaBaHe Ha focTa.

(2)AsacHa apbxKa
(3)bonT

(4)NNaBa gpbXxKKa

(5)OT cTpaHa Ha aoBuraTens

F4

 NMPEONA3UTEN
[onpeTe npegnasntens Kbm
34paBo cbe ckobata u 2 bonTta

Xuno

ce yBepeTe , Ye TO € NOCTaBEeHOo B
N He, TOBa € MHOro OMacHo,
npoabLMMKU Oa ce BbLPTU cnepn

1. 3akayeTe Kpas Ha XWUNOTO B OTBOpa Ha Apocenupalius fIocT 1 noctaBeTe XUIOTO B NOCTa,
KaKTo e nokasaHo Ha kapTuHaTta. (F4)
2. YBUNTE neHTaTa Taka, 4Ye XUNoTo Aa € CBbP3aHO C pbKoXBaTKaTa.

(1) OtBOpP
(2) Opocenupallo Xuno

HACTPOMBAHE HA OPOCENUPALLOTO XXWUNo
1. Cnen ocsoboxgaBaHe Ha nocrta, usgbpnanTte Xunoto. HopmanHua xog € 1 unu 2 M,

M3MepeHo OT CTpaHa Ha kapbypaTopa.

2. AKO XOAbT € KbC UNM ObNbl, MaxHeTe Kanaka Ha Bb3gylHus unTbp, pasxrnabeTe
3aKoHTpsiLLaTa raka n kopurupanTe xoga. (F5)

(1) Perynupatua ravka
(2) 3akntoyBalLa ranka

T

e-mail: info@valerii.com

www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Lentpanen opuc: Copua 1517

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634

GSM 0889/ 444 991

Mnosawus, c.Tpya 4199
yn. "CrpoeBcko woce” 3
Ten./pakc 032/ 953 666
GSM 0885/ 808 003

Bapna 9000, k8. "Bnaanucnasoso” Codua 2227, k8."Boxypue”

ITpoepwit: P.Y./24.03.2015r

6yn. “AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33

Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0885/ 808 004 GSM 0889/ 334 692



@ BAAEPUN C&M TPYN AR

* MOHTUPAHE HA METAJTHUA HOX (F6)

1. CnoxeTe BbTpeLLHaTa rpvBHa Ha Bana u 3aBumnTe ctonopa c
NPUNOXEHUSA KoY 3a BbTPELUHN LLIECTOrpamMmu.

2. CnoxeTte HOXa BbpXy BbTpeLUHaTa rpMBHa C HagnucuTe no
amcka c nuue KbM pefykrtopa v noctaBeTe OTBOpa Ha Aucka
BbpPXY M3gageHaTa Harope YacT Ha BbTpeLuHaTa rpyMBHa.

3. MoHTHMpanTe BbHLWHATa AbpXKalla rpuBHa Ha

Bana Ha peayktopa ¢ B4nb6bHATOTO 1 nnue KbM

HOXa.

4. T[loctaBeTe nNPUNOXEHUA Kanak BbpXy

BbHLUHATa rpMBHa M ro 3aTerHeTe C ramkarta (c

nasa pes3dba) 3aegHO C  NpyXuHata U

obukHoBeHa wanba.

(1)lanka
(2)MpyxnHHa wanba
(3)Wanba

(4)BbHwHa rpusBHa
(5)PexeLl HOX

(6) Ban Ha pegykTopa
(7)Knto4 nmbyceH
(8)BbTpeluHa rpusHa
(9)PeaykTop

MOHTUPAHE HA YCTPOUCTBOTO 3A PA3AHE C HAUJIOHOBA KOPJA (F7)

1. MNocTtaBeTe npaBunHO BbTPELLUHATa M BbHLUHATA rPUBHA Ha Bana Ha
penykropa.

2. 3aBumnte npunoxenua 6ont (M10 c naBa pesba) Ha Bana Ha
penykTopa 1 ro 3aTerHeTe C rae4eH Krou.

3. MoHTupanTe yCTPOMCTBOTO 3a psidaHe C HaWfoHoBa Kopaa 4pes
duKCMpaHe Ha BbTpELLHATa rPUBHA C MMOYCEH KIOY, KaTO 3aTerHeTte
34paBo.

MPEMNOPBLKA CbxpaHaBante 6ontoBe U Wanbute 3a MOHTaX Ha
HOXa, Taka 4Ye ga He rm 3aryoure.

(1)PepnykTop

(2)BbonTt

(3)YcTponcTBo 3a psizaHe C HaUIrIOHOBa Kopaa
(4)HannoHoBa kopaa

6. FTOPUBO
BHUMAHMUE:

F7

é,:/ @

_{1)

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Lentpanen opuc: Copua 1517 Mnospaus, c.Tpya 4199 Bapna 9000, k8. "Bnaanucnasoso”

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. “AtaHac Mockos” 13

Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./pakc 032/ 953 666 Ten.: 052/ 504 514

GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004
ITpoepwit: P.Y./24.03.2015r

Codua 2227, ks."boxypuuie”

6yn. "Espona” 180, cknap 33

Ten.: 02/ 925 22 37
GSM 0889/ 334 692




@ BAAEPUN C&M TPYN AR

BeH3nHBLT e cunHo 3ananum. U3bsaresamTe nyweHeTO UMM BHACSAHETO Ha niambk
WU UCKpn 651130 A0 ropuBoOTO.

MonuiiTe BCUYKMN pa3nuBK, Npean cTapTUpaHe Ha ABUraTens.

YBepeTe ce, AoBUratesnsi e CnNpsiH U1 ro ocrtaBeTe Aa U3CTMHe Npeau 3apexaaHe Ha
YCTPOMCTBOTO C rOPUBO.

He ce npubnuxkaBaiTe c OTKPUT NramMbK B o6nactra, KbAeTo ce paboTu unu ce
CbXpaHsiBa rOpMBOTO.

BAXHO

Hukora He n3nons3sanTe Macno 3a 4-TakToB ABUraten unu 3a 2-TakToB AsBuraTtesni ¢ BOOHO
oxnaxgaHe. ToBa MOXe [ga npeagusBuMka Harap 0o cBewTa, 6nokMpaHe Ha
n3nyckaTtenHaTta cuctema unu 3agupaHe Ha dytanHute NPbCTEHMN.

CmeceHn ropuea, KOUTO Ca OCTABEHM HEW3NnOomn3BaHW 3a CPOK OT eduH Mecel, unu
noBeye, MOXe [Oda 3anywar kapbypatopa wnu aga goBedar A0  HenpaBUIHO
dyHKUMOHMpaHe Ha ppuratens. CnoxeTe oOcCTaBallOTO FOPUBO B XepMETUYECKU
3aTBOPEH Cb/ U IO CbXpaHsiBaTe Ha TbMHO U XITaQHO MSICTO.

CwmeceTe 0obukHOBEH OeH3uH (onoBeH unu 6e3onoBeH, 6e3 HanuuMe Ha arkoxosl B Hero) u
Ka4yeCTBEHO Macro 3a 2-TaKTOBM ABUraTenu ¢ Bb34yLUHO OXNaXkaaHe.

NMPENOPBYUTENHO CbOTHOLUEHME HA CMECBAHE
FTOPUBO 25: MACJIO 1, macnoTo Tpsabsa aa 6bae cneumanHo 3a ABYTaKTOBM ABUraTeNu

7. PABOTA C MALLUHATA

e CTAPTUPAHE HA ABUTATENA
NMPEAYNPEXOEHMUE:

o [lpean cTapTupaHe Ha (g8
asuraTtens, ornepante

auratens 3a  pasxnabeHu
BPb3KM WUNN 3a TEYOBE Ha FOPMBO U 4Ye PEeXeLloTo
obopyaBaHe € npaBWIHO WHCTanMpaHo W 34paBo
3aKpeneHo.

MocTaBeTe YCTPOMCTBOTO Ha paBHO, TBbLPAO MSCTO.
[pbXTe pexelwarta rnaea pfaned oOT BCSIKakBu
3a06uKanawm npeameTu.

1. 3aBbpTETE Kanaykata Ha pe3epBoapa 3a ropvBo 3a [a ce yBepuTe, Yye Td € 3aTerHata
3gpaso. (F8)

(1)Kanauka

(2) N'opuBeH pesepBoap

D

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HauymoHaneH)

Lentpanen opuc: Copua 1517 Mnospaus, c.Tpya 4199 Bapna 9000, k8. "Bnaanucnasoso” Codua 2227, k8."Boxypue”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "CrpoeBcko woce” 3 6yn. “AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./pakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692

ITpoepwit: P.Y./24.03.2015r



2. OTBOpETE KNanaHa Ha pesepBoapa 3a ropuso. (F9)
3. MpemecTteTe nocta My B 3aTBOPEHO nonoxexue. (F9)

(1)JocT Ha KnanaHa
(2)FopuBeH knanaH
(3)3aTBOpeH
(4)OTBOpPEH

(6)OTBOpPEH

(5)3aTBopeH

3ABEJIEXKA Korato pecrtaptupate gsuraTtens BefHara cneg crnupaHeto My, 3aBbpTeTe

F10 (1) @)

F11 N

J10CTa Ha KnarnaHa B OTBOPEHO MoJioXKeHne.

4. CnoxeTe pbyKaTa Ha rasta B nonoxeHue crapt. (F10)
(1)MpaseH xopn
(2)CrapTtupane (1/3-1/2 otBOpeHO)
(3)MbnHa ras

3ABENEXKA
KoraTo pectapTupaTte ABuratens BeaHara crie CnmpaHeTo my,
3aBbpTETE pbykaTa Ha rasTa B MOMOXEHME Ha NpaseH xop.

5. [lokaTo ObpxuTe MallnMHaTa 34paBo, U3gbpnanTe BLXeTO Ha
ctaptepa 6bp3o (F11).

6. Cneg kato gBuratendar € cTapTMpaH, OTBOPETE KnanaHa
NOCTENEHHO.

7. OcTtaBeTe gsuraTtens ga pabotu 3a 2 0o 3 MUHYTK, 3a Oa ce
cTonnu.

e CINWUPAHE HA OBUTATENA

1. BpreTe J1OCTa 3a ra3ta B no3nuusd 3a npas3eH xoa.

2. HatucHeTe BGYTOH 3a BKMNIOYBaHe Ha ABuraTens.

e WU3MNON3BAHE HA KOJIAHA 3A KOCEHE (F12)

1. CnoxeTe cu KonaHa 3a koceHe. (F12)

2. BknoveTe gBuraTtensi, BbpHETE JIOCTa Ha rasta 40 No3uumsiTa 3a Haun-HuMcKaTta CKOPOCT U
3aKayeTe KykaTa Ha KorlaHa 3a KOH30MaTa 3a OKayBaHe Ha MaluuHaTa.

3. Perynupante gbrkuHaTa Ha KOfaHa, Taka 4Ye OCTpMeTo Aa MOXe [a CTOM yCcrnopeaHo Ha
3emdATa B paboTHO NONOXeHMe.

3a pa ce nsberHe pasxnaGBaHe no BpemMe Ha pa60Ta, npekapanTe octaHanara 4acTt OT KonaHa

npes3 Katapamarta

e PA3AHE C MALLWUHATA

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaynoHaneH)

Lentpanen opuc: Copua 1517

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634

GSM 0889/ 444 991

Mnosaus, c.Tpya 4199 Bapna 9000, k8. "Bnaanucnasoso” Codua 2227, k8."Boxypue”

yn. "CrpoeBcko woce” 3 6yn. “AtaHac Mockos” 13 6yn. "Espona” 180, cknap 33

Ten./pakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37

GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITpoepwit: P.Y./24.03.2015r



@ BAAEPUWN C&M TPYN A

M3MNOJN3BAHE HA METAJIHUA HOX
e BuHarm wunsBbpwBanTe psA3aHETO KaTto  ABWXKUTE
pexellarta rnasa oT Bale gacHo Ha nsBo.

e MeTanHusa HoX pexe Han gobpe oo 1/3 HaBbTpe OT
pbba. WM3nonssamte Ta3mM ob6GnacTt 3a psidaHe Ha
Xpactn, xunasu n aebenn OypeHu. 3a psizaHe Ha
MnagmTe TpeBWU, MOXeTe Ja wm3nonssate o 2/3 ot
BbpXa Ha OCTpMeETO.

e Perynupante ckopocTTa Ha Asuratensa cnopep
obekTuTe, KouTo pexerte. PexeTe mnaante TpeBM CbC
cpeaHa CKOpPOCT U pexeTe XpacTUTe UMu XunaesuTe U
nebenn 6ypeHn CbC BMCOKA CKOPOCT.

3a KnoHu u aobpBeTa
3a TpeBa n 6ypeHun
Mocoka Ha psizaHe
NMocoka Ha BbpTeHe

PwpE

(2) BAXHO
Mpn pabBoTa C HWCKa CKOPOCT TpeBaTa, NneBenuTe Wunu

KITOHUTE NO-NeCHO Ce YCyKBaT OKOJ10 HOXa, a TOBa M3HOCBA Balla U CbeaAUHUTETA |'|0-6'bp30.

WU3MNON3BAHE HA YCTPOUCTBO 3A PA3AHE C HAUITIOHOBA KOPOA

* HannoHoBaTa kopga m3pasxoisa ronsima mMolHocT. Mons, umante npeasui, Ye CKOpocTTa Ha
BbpTeHe Ha ABuratens npu ekcnnoaraumsa crneasa aa 6vae 50% no-ronsiMa, OTKOMKOTO KoraTo ce
N3non3Ba MeTarneH HOX.

* YCTPOMCTBOTO 3a psAi3aHe C HaiiroHoBa kopda KOCW TpeBaTa Ype3 BbPTeHe Ha HalnoHoBaTa HULKa. AKO
ce onuTate [a OKOCUTe TpesaTa OT BeAHbX, CKOPOCTTAa Ha BbpPTEHe cTaBa Mo-HWCKa mnopaau
CBbMNPOTUBIEHMETO M TPeBaTa He MOXe [la ce oKocu Ao6Gpe. B criyyait Ha ronsamMo cbnpoTUBNEHUE,
oTAaneyete MallMHa [Janedy OT TpesaTta, YBenuyeTe CKOpOoCTTa Ha BbpTeHe, W Hamanete
KONMYECTBOTO TPEBA, KOETO 1CKaTe a OKOCUTE C e[UH ps3.

* AKo onuTaTe ga KocuTe TpeBaTta, Ype3 NoninsiBaHe Ha MawunHaTa no obpateH HaymH (OT NsIBO
Ha [ACHO), u3peskuTe wu3nuTaT B MNOcoka Adaned oT TAnoto. MoxeTte pa npegotepaTute
N3MbpPCSIBAHE HA OPEXUTE CW.

8. MNMPO®UITAKTUKA

i Pexewo ocTpue

o X | |
3aocTpete Bceku pexew, pbb M ce yBepeTe, 4Ye bIrbna B
@,’ /%ﬂ ocHoBaTa e 3aobneH. (F13)

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HaymnoHaneH)

STME

)

.'_"

Uentpanen opuc: Copun 1517 Mnosaus, c.Tpya 4199 BapHa 9000, k8. “Bnagucnasoso” Codun 2227, kB "Boxypuiye”
kB. "Cyxata peka” 6yn. "boresrpaacko woce” 44 yn. "Crpoescko woce” 3 6yn. "Atanac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITposepun: P.4./24.03.2015r



@ BAAEPUN C&M TPYN AQ

Fi4 * He oxnaxgante ocTpueTo C Boda B criyyan, 4e
nanonseaTte brnownandg. ToBa MoOXe Aa MPUYNHK
(1) NyKHaTWUHM MO OCTPUETO-

CNEA 25 YACA HA YINOTPEBA

e BDBL3AYWEH ®UNTHP

[MpoBepeTe u nounctete PUNTbPHUSA €NeMEHT B Tonna,
canyHeHa Boja, Kakto ce wu3sucksa. OcrtaBeTe pfa
M3CbXHEe HanbfHO, npeauM fa ro wuHcrtanuparte. Ako
eneMeHTbT € CHYMNEH UNKn CBUT ro 3ameHeTe ¢ HoB. (F14)

(1)Kanak
(2)EnemeHT
(3)PeweTka
(4)Tano

BAXHO

AKO Bb3OyWHUS UNTbP Ce 3aApbCTW, TOBa MOXE [Oa YBENWYM pasxoda Ha ropuBo Mpu
CbKpalllaBaHe Ha MOLLIHOCTTa Ha ABuraTensi.

Ako mawmHaTa paboTtn 6e3 Bb3aywHUa uUnTbp UnNn ¢ gedpopMmmpad UNTbpeH enemMeHT, ToBa
6bp30 We pywmn gpuraTens.

e FOPUBEH ®UNTHLP

N3kapante cuntbpa OT pesepBoapa, Npe3 OTBOpa 3a HanvMBaHe Ha ropveo, C NomMouiTa Ha
Marnka Kyka oT Ten. [lemoHTupanTe puntbpa OT ropmBHaTta Tpbba n ocBoboaeTe kpenexa 3a aa
ro pasrnobure. lNouyncrete KOMNOHEHTUTE C BEH3NH.

BAXHO
MNpu 3agpbcTBaHe Ha ropmMBHUA OUNTHLP MOXeE Aa Ce BIOLLM YCKOPEeHWeTO Ha ABuraTens.

e CBEL]
N3BageTe v npoBepeTe CBeLLTa U NOYUCTETE eNeKTpoauTe Nnpu HeoBXOAMMOCT C YeTKa.

PascTosHneTo mexay enektpoauTte Ha ceewTa Tpsabea ga ce kopurupa 8o 0,6 - 0,7 mm. (F15)

e | @i

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaymnoHaneH)

Llentpanen opuc: Copun 1517 Mnosaus, c.Tpya 4199 BapHa 9000, k8. “Bnagucnasoso” Codua 2227, k."boxypuie”
kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44 yn. "Crpoescko woce” 3 6yn. "AtaHac Mockog” 13 6yn. "Espona” 180, cknaa 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITposepun: P.4./24.03.2015r



_ ) BAAEPUN C&M TPYM AL

Fi6

5 * CMYKATEJIEH PBKAB 3A Bb3AYWHOTO OXJNTAXOAHE
y’ f lNpoBepeTe cMyKkaTenHMs pbkaB 3a Bb3OYLIHOTO OXMaxgaHe, MACTOTO
o oKoso oxnaxgawmTe pebpa Ha ABuraTens n oTCTpaHeTe BCUYKM OTNaabLM,
KOUTO ca ce nornenunu KbM mMallnHara.
BAXHO

Wmalite npegBua, Ye ako He HanpaBWUTE OMNMCAHOTO MOYUCTBAHEe, TO TOBa MOXeE Aa NMPUYUHU
nperpsieaHe Ha aycryxa, a ToBa Ha CBOWM peJ MOXe Aa NPUYMHM 3ananeaHe Ha MalluHaTa.

PEOYKTOP

M3nonaBanTe rpec 3a obua ynotpeba Ha Bcekn 25 yaca pabota. C uen npemaxBaHe Ha crtapaTa
rpec oT MalmnHaTa paskadeTte pexeulata rnasa. (F16)

CINE[O 100 OTPABOTEHU YACA

LWYMOSAIMyLWAUTEN

1.MNpemaxHeTe aycnyxa, nocTaBeTe efHa OTBepTKa B CMYKaTeNHUs pbkaB M obbpLieTe
HaTpynanua ce Harap. W3bbplweTte Harapa obpasyBaH MO WM3XOASLWMS PbKaB Ha aycnyxa
€4HOBPEMEHHO C TOBa.

2. 3aTterHeTe BCUMYKM BUHTOBE, OONTOBE N PUTUHIN.

3.MpoBepeTe pann e nonagHano Macfno Wnu rpec  Mexay
cbeaunHuTens n bapabaHa, 1 ako e Taka, n3dbpLieTe KaTo
n3nonasarte F15 obe3macneH, 6e30no0BeH DEH3UH.
4. OrtcTpaHeTe Kanaka Ha kapbypartopa n nouncreTe
OTBbTpE.
HACTPOMKA HA KAPBYPATOPA

0.6~0.7mm
BAXHO
HenpaBunHata HaCTpOMKa MOXe Aa gosede Ao nospena

Ha MalmHaTa. Ako aBuraTensaT He dpyHKUMOoHMpa aobpe, crieq kaTo HacTpouTe kapbypaTop, Mons
0oObpHETE Ce KbM MarasunHa, OTKbAETO CTe 3aKynuiu NpoaykTa.

BUHT 3A PEIYJIMPAHE HA NPA3HUA XOA (F17)

S

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaymnoHaneH)

*

Llentpanen opuc: Copun 1517 Mnosaus, c.Tpya 4199 BapHa 9000, k8. “Bnagucnasoso” Codun 2227, kB "Boxypuiye”
kB. "Cyxata peka” 6yn. "boresrpaacko woce” 44 yn. "Crpoescko woce” 3 6yn. "Atanac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITposepun: P.4./24.03.2015r



@ BAAEPUWN C&M TPYN A

ToBa e BMHTa 3a perynupaHe Ha obopoTuTte Ha ABurartens,
KoraTo focTa 3a ra3Ta e CroXeH B MOSIOXEeHWe 3a HaWl-HUCKK
obopotn. Ako 3aBmBaTe BMHTA Ha AACHO (MO YaCoBHMKOBAaTa
cTpenka) obopoTuTe ce yBenuyaBaT, MU CbOTBETHO HansABO
(obpaTHO Ha YacoBHMKOBaTa cTperka) obopoTuTe Hamangasar. B
Crnyyaln, 4ye HOXa MpoAbIPKaBa ga Ce BbpPTUM WnuM ABuraTens
cnupa, Korato BbpHeTe focTa 3a rasta JOoKpan B M3XOO4HOTO
nonoxeHue, TpsibBa Aa ce npaBu HOBa HACTPOWKA.

1) BUHT 3a perynupaHe Ha npasHus Xo4
2) Bucokn obopoTu
3) Huckm obopoTu

NnoAAPBXXKA NPEAU CbXPAHEHUE

1. 3unctete OoT MpbCOTUA MallMHaTa, NpoBepeTe 3a LWeTu unm 3a pasxsiabBaHe BCUMYKM YacTu.
AKO HamepuTe Hewlo CTpaHHO, TpsibBa 4a ro oTCTpaHuTe 40 CneaBalloTo U3MNosi3BaHe.

2. 3ToyeTe ropuBoTO OT pes3epBoapa M pa3xnaberte gpeHaxHaTa npobka Ha kapbypaTopa 3a
n3TOuBaHe Ha ropuBOTO M OT TaM, 3ananeTe ABUratens u ro octaBeTe Aa paboTu goKaTo He crpe
cawm.

3. N3kapanTe cBewTa un Hanente 1 ~ 2cc Macrno 3a 2-TakToBM MallMHK B ABuratens. agbpnante
BbXXETO Ha cTapTepa 2-3 NbTu, NOCTaBeTe 06paTHO CBELUTA U A 3aTErHeTe.

4. HamaxeTe meTanHuTe 4acTtu C Macro C uen npegoTBpaTsiBaHe MosiBa Ha pbXxaa, CroxeTe
Kanaka BbpXy HOXa 1 APBbXTE MaluMHaTa Ha 3aKpUTO CyXO MSCTO.

9. CMEUNDPUKALINA

MouwHocT - 1.3 Kw

Oeuraten tvn - 1E40F egHounnmMHapoB ,6€H3MHOB,ABYTAKTOB C Bb34YLLHO OXNaxaaHe
PaboTteH obem -42.7 cc

O6opoTu Ha npaseH xof - 3000 min™
MakcumanHu o6opotu - 7000 min™
CboTHoweHne 6eHamH/macno — 25:1
O6em Ha pesepBoapa - 1200 mn
Kapbypatop: RUIXING MT16

HwnBo Ha 3ByKOBa MoLLHOCT - 112 dB
Pa3mep Ha ocTpueto ® - 254 mm

Pasmep Ha HannoHoBOTO Bbxe ® — 2,5MMm

SABEJNEXKA:

Tasn MHCTpyKUumA 3a ynotpeba ce oTHaca camo 3a rope onvcaHUTe MalluHU, ako ce NOSIBAT Neku
N3MEHEHUS B Te3N MaLLMHK; CbLLHOCTTa Ha MalLMHaTa onpegens cneumdunkaumaTa Ha TeXHONorms
n ynotpeba.

10. TFAPAHLUUOHU YCINNOBUA:

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaymnoHaneH)

Llentpanen opuc: Copun 1517 Mnosaus, c.Tpya 4199 BapHa 9000, k8. “Bnagucnasoso” Codun 2227, kB "Boxypuiye”
kB. "Cyxata peka” 6yn. "boresrpaacko woce” 44 yn. "Crpoescko woce” 3 6yn. "Atanac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITposepun: P.4./24.03.2015r



@ BAAEPUWN C&M TPYN A

BHUMAHMUE! TAPAHLIMOHHO HE CE NOAMEHAT BbP30 N3HOCBALLU CE YACTU KATO,
PEXELWWN MHCTPYMEHTW ( HOXOBE, LUMYIW, BEPUTW, ) YTITBTHEHUA, TAPHUTYPN,
SAMAINUTENHW CBELWMW, CTAPTEPHW BBXETA, CTAPTEPHW POJIKW, BOAELLN WWAHN,
BOAELLW KOJNENA, CbEANHUTENN, dUNTTPU, OKAYBAHNA HA KOJNENA, PEMBLN,
SAWLNTHU NPNCNOCOBNEHNA KbM PEXXELUWTE NMHCTPYMEHTU N APYTU MOAOBHWN.

Pe3epBHM YacTu Ha paboTHaTa oc

Ne | HanmeHoBaHue Bpoii | Ne | HanmeHoBaHue Bpon
Crnobka Ha
1| npegaBaTenHaTa Kytus 1 |43 |[JoneH gbpxau 1
2 | Cenaparop 26/28 1 |44 |Bunt M5x20 2

Crnobka Ha koH3onHaTa

3 | Cenapatop 10 45 | cBpb3Ka

4 | larep 6000 46 | KoH3onHa cBpb3ka

5 | Manko 3bb4aTto Koneno 47 | Cenapatop 35

6 | Al-LLlanba 5 48 | Ilarep 6202

7 | Bunt M5x10 49 | Cenapatop 15

8 | MpepaBaTtenHa Kytus 50 | BuHt M5x20

9 | FTonamMo 3bbYyaTo Koneno 51 | BapabaH Ha cbeguHTEN
10 | Ban 52 | lWndpt A

11 | larep 6002 53 | lWmndT B

54 | Buat M5x20

55 | KapTep Ha cbeguHuten
56 | KoHekTop Ha npegnasurten
57 | 'ymeHa BTynka

12 | Cenaparop 32

13 | Npegnasuten

14 | Obpkad Ha Ban

15 | Ibpkay Ha ocTpmeTo

16 | Obpxay 2 Ha OCTPUETO 58 | BUHT M5
17 | Nas BuHT M10 59 | KoH3ona
18 | Wanba 5 60 | BuHt M5x25
19 | Wanba 5 61 | BuHT M5x20
20 | Bont M5x25 62 | Bunt M5x20
21| OcTtpue 63 | BuHt M5

22 | bont M5x16
23 | YnnbTHgBALL MPbCTEH 5

64 | BuHT M6X25
65 | Kanak Ha koH3onaTta

N N G o [ N o T e e e T e e TR =N [ O [ O PR TV o
T e e e N N I I e R A e G R I R I IR R

24 | Wanba 5 66 | PeMbk 3a nocTaBsHe Ha pamo
25 | Wanba 5 67 | pocenupall LUHYp
Kuua Ha BknoyBaTen Ha
26 | Manka M5 4 | 68| cToncurHan 1
27 | bont M5x12 2 |69 |BbnHoBa Tpbba 1
28 | YnnbTHABALY NPBCTEH 2 70 | BuHT M5 1
29 | lanba 2 | 71| Bpb3ka HannoHOBa HULLKA 1
MNpepynpeautenHa
30 | BuHT M5 2 | 72 | mapKknpoBka 1
31 | Obpxau 1 | 73| lNpoTekTop 1
32 | lnacmacoB npegnasunten 1
33 | Al-Tpb6Ha crinobka 1
34 MacneH narep 5
5 | MNpepaBaTeneH Ban 1

AN
PREMIUM /
- 8 A

e-mail: info@valerii.com www.valerii.com
CepBus:ten. 02/ 942 34 70 (HaymnoHaneH)

Llentpanen opuc: Copun 1517 Mnosaus, c.Tpya 4199 BapHa 9000, k8. “Bnagucnasoso” Codun 2227, kB "Boxypuiye”
kB. "Cyxata peka” 6yn. "boresrpaacko woce” 44 yn. "Crpoescko woce” 3 6yn. "Atanac Mockos” 13 6yn. "Espona” 180, cknap 33
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634 Ten./dakc 032/ 953 666 Ten.: 052/ 504 514 Ten.: 02/ 925 22 37
GSM 0889/ 444 991 GSM 0885/ 808 003 GSM 0885/ 808 004 GSM 0889/ 334 692
ITposepun: P.4./24.03.2015r



Ban

BAAEPUN C&M FPYN A

36 | Al-Tpbba 1
[acHa gpbxka Ha
37 | pbKkoxBaTkaTta 1
JlaBa gpbxka Ha

38 | ppkOxBaTKaTa 1

39 | Al-Tpnba 2

40 | NopeH abpxay 1

41 | BuHt M5x25 4

42 | IlokanHa cBpb3Ka 1

Ne | OnucaHue Ha YacTute Bpori| Ne |OnucaHve Ha YacTute Bpon
Crnobka Ha npegaBartenHara
1 |kytn4a 1 11 | Bont M5x20 1
1-1 | BwbTpewHa ckoba g 26 1 12 | Crnobka Ha n3soga 1
1-2 | BuHwHa ckoba g 10 1 12-1 | anymunues 6opga Il 1
1-3 | larep 6000 3 12-2 | anymunues 6opga Il 1
1-4 | 3agBuxkBallo 3bb4YaTo KONeno 1 12-3 | 6onTt M5x12 1
1-5 | Bnok Ha 3bb4aTo Koneno 1 12-4 | nognoxka 3a okayBaHe 1
1-6 | bonT M6x18 1 12-5 |un3Bop 1
1-7 | Bont M5x25 12 | 12-6 |BbHWHa ckoba @ 15 1
1-8 | bont M5x35 1 12-7 | narep 6202 1
1-9 |larika M5 5 12-8 | BbTpewHa ckoba @ 35 1
1-10 | Bont M6Xx12 1 12-9 | Tpuewy anck 1
1-11 | 3vbyaTo Koneno 1 13 | TpaHCMUCMOHEH NoCT 1
1-12 |Oc 1 13-1 | anymuHueBa Tpbba 2
1-13 | Jlarep 6002 1 13-2 | narep 6
1-14 | BbTpelwHa ckoba g 32 1 13-3 | 6ont M5x16 1
1-15 | MacneHo yninbTHEeHue 1 13-4 | Crnobka Ha cBbp3Ball, KOMMIIEKT 1
1-16 | Kanak Ha npoTekTopa 1 13-5 | TpaHCMUCUOHEH Bar 2
1-17 | bont M5x10 3 14 | WHYp 3
crnobka Ha gpocenuvpalty

1-18 | lNoagnoxka Ha ocTa 1 15 | npekbcBad 1
1-19 | NpeBkntoyBarTen 1 16 |pgsacHa Tpbba 1
1-20 | Kanak Ha npoTekTopa 1 17 |nsiBa Tpbba 1
1-21 |lanka M10x1,25 1 18 | naBa HanpaBnsABalla ApbXKKa 1
2 | Octpue 1 19 | dukcupalla nognoxka | 1
3 | Crnobka Ha npoTekTopa 1 20 | cbukcupaua nognoxka Il 1
4 dukcmpaHa Noanoxka 1 21 | dmkcupawa nognoxka Il 1
5 Csbp3Balla nnactuHa 1 22 | crnobka Ha konaHa 1
6 Manko octpue 1 23 | crnobka Ha gBuraTens 1
7 | bont 4x16 1 24 | npegnaseH Kanak 1
8 Manka M5 3 25 | 6ont M5x20 4
9 | crnobka Ha KOH30nHaTa CBpb3ka 1 26 | 6ont M6Xx20 4

10 | OpueHTupaLy, puHr 1

B

www.valerii.com

e-mail: info@valerii.com

CepBus:ten. 02/ 942 34 70 (HaymnoHaneH)

Llentpanen opuc: Copun 1517

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634

GSM 0889/ 444 991

Mnosaus, c.Tpya 4199 BapHa 9000, k8. “Bnagucnasoso” Codua 2227, k."boxypuie”
yn. "Crpoescko woce” 3
Ten./dakc 032/ 953 666

GSM 0885/ 808 003

6yn. "Atanac Mockos” 13
Ten.: 052/ 504 514
GSM 0885/ 808 004

6yn. "Espona” 180, cknaa 33

Ten.: 02/ 925 22 37

GSM 0889/ 334 692
ITposepun: P.4./24.03.2015r



@ BAAEPUWN C&M TPYN A

[euraten
Ne | OnuncaHune Ha YactuTe Bpon | Ne | OnucaHue Ha Yactute Bpon
1 | BONT M5X16 3 26 | MAXOBUK 1
2 | CITIOBKA HA Bb3OYLWHUA OUNTTHP 1 27 |TNAOKA MOAONOXKA ¢ 8 2
2-
1 | KANAK HA Bb3[YLWEH ®UNTHP 1 28 |FAMKA M8X1,25 1
2-
2 |Bb3OYWEH ®oUNTHBP 1 29 |MJIOCKO 3AIMbJIBALWO MAPYE 2
2-
3 |[bBA 1 30 | CKOBA 1
2- | OCHOBHA MNOOCTABKA HA Bb34YLWEH MPO®UITHO 3AMBIBALLO MNMAPYE @
4 | OUNTHBP 1 31 |10 2
3 | BOJIT M5X55 2 32 | KOMIMNEKT BOJITOBE 3A CKOBA 2
4 |MPOMYLUETE NOONIOXXKATA 10 | 33 |JIAB KATAK 1
5 | CI'TIOBKA HA KAPBYPATOPA 1 34 | BONT M5X25 4
XAPTUEHA NOAONOXKA HA
6 | KAPBYPATOPA 1 35 |KOPIYC HA JACHATA KYTUA 1
7 | BOJIT M5X25 2 36 | MACNEH YITUTBTHUTEI g 12X g 22X7 1
CTAPTUPALLA 3AOBMXBALLA
8 | BbTPEWHA TPbBA 1 37 |NINACTUHA 1

T

IRTRMAX

WI DECOREX I

e-mail: info@valerii.com www.valerii.com

CepBus:ten. 02/ 942 34 70 (HauymoHaneH)

Llentpanen opuc: Copun 1517

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634

GSM 0889/ 444 991

Mnosaus, c.Tpya 4199 BapHa 9000, k8. “Bnagucnasoso” Codua 2227, k."boxypuie”
yn. "Crpoescko woce” 3
Ten./dakc 032/ 953 666

GSM 0885/ 808 003

6yn. "Atanac Mockos” 13
Ten.: 052/ 504 514
GSM 0885/ 808 004

6yn. "Espona” 180, cknaa 33

Ten.: 02/ 925 22 37

GSM 0889/ 334 692
ITposepun: P.4./24.03.2015r



@ BAAEPUN C&M TPYN AQ

XAPTUEHA MOONOXKA HA BbTPELLUHATA )
9 | TPBBA 1 | 38 |FAVIKA M8X1,25 1
10 | CBELY, 1 | 39 | ANYMUHWEBO 3AMBIBALLO MNAPYE 1
11 | BNTOK HA LUMIIMHOBPA 1 | 40 |CTAPTEP U3ObPMBAH C PbKA 1
XAPTUEHA MOONOXKA HA BITOKA HA
12 | UIMNMHOBPA 1 | 41 |BONT M5X20 7
CITMOBKA HA MAKET Mo BUCOKO
13 | BYTAJNEH NPBbCTEH 2 | 42 |HANATAHE 1
14 | BYTAIIO 1 | 43 |CTArA HA MACIIbOHKATA 1
ENACTWUYEH MPBCTEH HA BYTANHUA
15 | BONT 2 | 44 |CrMOBKA HA MACJIbOHKTA 1
16 | BYTANEH BONT 1 | 45 |BONT M5X20 2
17 | PONIKOB NATEP 1 | 46 |MPOTEKTOP HA MACJIbOHKATA 1
MPUNENBALLA OBLUMBKA HA
18 | CTTIOBKA HA U3BUTW TOMNOPY 1 | 47 |UMNMHOBPA 1
19 | CETMEHT HA LUMOHKA 1 | 48 |KAMNAK HA UMNVHOBPA 1
20 | NNATEP 6202 2 | 49 |BONT M5X20 4
KHVI>KHA MOANOXKA HA
21 | LEHTPUPALL LN®T 4 | 50 | 3AMNYWUTENS 1
CbBUPATENN HA XAPTUEHATA
22 | MOANOXKA HA KYTUATA 1 | 51 | CITTIOBKA HA 3AMNYLWWTENA 1
23 | KOPIYC HA NTABATA KYTUSA 1 | 52 |BONT M5X12 2
24 | MACNEH YNITBTHUTEN 1 | 53 |BONT M6X55 2
25 | BONT M5X30 4 | 54 |KAMAK HA 3ATCYWATENS 1

e | @i

e-mail: info@valerii.com
CepBus:ten. 02/ 942 34 70 (HaymnoHaneH)

www.valerii.com

Llentpanen opuc: Copun 1517

kB. "Cyxarta peka” 6yn. "Botesrpaacko woce” 44
Ten.: 02/ 942 34 00, dakc.: 02/ 945 4634

GSM 0889/ 444 991

Mnosaus, c.Tpya 4199
yn. "Crpoescko woce” 3
Ten./dakc 032/ 953 666
GSM 0885/ 808 003

BapHa 9000, k8. “Bnagucnasoso” Codua 2227, k."boxypuie”
6yn. "AtaHac Mockog” 13
Ten.: 052/ 504 514

GSM 0885/ 808 004

6yn. "Espona” 180, cknaa 33

Ten.: 02/ 925 22 37

GSM 0889/ 334 692
ITposepun: P.4./24.03.2015r



